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This examination has two parts. All the questions in Part A need to be
answered. You need to answer questions worth 60 marks in Part B.

Part A
1. (25 points) Multiple choice questions

(a) Th» implication (~qV p) = ¢ is:
" tautology
i, true for exactly one truth assignment to the variables p and g.
iii. false for exactly one truth assignment to the variables p and g.
iv. true whenever p is true, but false otherwise.
v. Jtrue whenever g is true, false otherwise.
(b) Let F(z,y) : “z can fool y”. What would be the appropriate equivalent
of the statement “John can fool Mary, but Mary cannot fool John ”7
i. =F(John, Mary)
ii. ~F(Mary, Fred)
W) F(John, Mary) A ~F(Mary, John)
v. =F(John, Mary) A F(Mary, John)
v. =(F(John, Mary) A F(Mary, John))
(c) The function f : A— B maps every element of A to an element of B.
Suppose |A| > |B| > 0. From this information, we can conclude that:
i. f is injective but not surjective
ii. f is surjective but not injective
iii. f is injective but not necessarily surjective
iv. f is surjective but not necessarily injective
@none of the above -
(d) Which of the following statements would be least likely to appear in an
inductive proof as the induction hypothesis?
i, “Assume that S(k) is true for some fixed but arbitrary £ € N,
@ “Assume that S(k) is true for all 0 < k < n”. '
iii. “Assume that S(k) is true for all 0 <k < n.”
iv. “Assume that S(k) is true for all for all natural numbers £.”
(e) Suppose that a committee of 5 people from a group of 7 women and 9
men is to be formed such that at least one woman serves on a committee.
How many such committees can be formed?
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i ()
ii. (1) x ()
SN
l::. ngne of 5‘che above

(f) Two labeled fair dice are rolled. What is the probability that the product
of the two spots ig_odd?

@3 @i @i @©;
(g) A person is positioned at the origin of 2-dimensional coordinate system,
and need to reach the point (4,5). The movement is restricted by one-unit

steps in only the directions of positive  and y. Under these conditions,
in how many ways can it make the trip to the destination point (4,5)7

(9 ()20 (i) 9 (v) 2
(h) How many ordered 4-tuples (w,z,y, z) aré Solutions to the equation

w+2z+y-+z =50 if each of w, z,y and 2 is to be positive multiple of 57
@) @& @) () () ) (}) @none of the above

(i) Consider the function f : {1,2,3,4,5,6, 7} - {0,1, 2 3 4}. How many
such functions have the property that |f~1({3})| =

(1) (;) (i) (3) X (g) @4 X (Z) (v) none of the above

(i) A set is well ordered if every nonempty subset of this set has a least
“element. Determine which of the following sets S is well ordered.

i. the set of integers
@the set of integers greater than -100
iii. the set of positive rationals
iv. the set of positive rationals with denominator less than 100.



2. (15 points) TRUE/FALSE QUESTIONS.

“T (a) [AUB|+|ANB|=|A[+|B|
(b) There are exactly 130 integers between 1 and 1000 (inclusive) which are
divisible 7 but not by 11.

——
I
“T (c) The propositional expression [pV (¢ A7)] V=[pV (g AT)] is a tautology.

(d) The prefix relation on strings is a partial order. (We know that y is a
prefix of z if there exists strings z such that z = yz. Note that when
x = binary , the prefixes of x are {b, bi, bin, ..., binary}.

“T (e) If R is reflexive and transitive, RN R7! is an equivalence relation.
F (f) For every set A, there exists onto functions f: A — 24
q (g) Every function is a relation.
() Vo e R [3] + |5 = La).
~ (i) The statement JzVyP(z,y) = VyIzP(z,y)

F (j) Among any 800 distinct integers chosen from the set {n: (n e N)A(1 <
n < 1600)} at least two must be consecutive.



Part B
1. (15 points) This problem is on “placing balls in bins”.

(a) We are interested in placing m balls in n bins. Placement is either
unrestricted (some bins may be left empty), one-to-one (each bin has at
most one ball), or onto (each bin must have at least one ball). Determine
the number of ways of placing balls in bins for each of the following cases:

| Constraints | unrestricted ' | one-to-one ] omto |
balls labeled vy -
bins labeled 4V PU\, m) YL #7 —’ .
IEOR. (2 ) (k)
Nidr
balls unlabeled | /'y 1y ~ | - -
bins labeled 4 4 ) m-i
") s m-n
balls labeled N ¢
bins unlabeled \O‘nm( 1 5 AN bw ;

(b) Transform each of the following counting problems to an equivalent
“placing balls in bins” problem. You need to specify the number of balls
and bins, Jabeled or unlabeled, in each case along with the placement

category.
i. The number of integer solutions of the equation ? o
T +Tt+. e, =r,2;21,1<i<n. ’ 9
ii. Determine the number of times the following pseudocode prints the
PRINT statement:
for i = 1 to 25 Afﬂaw{/j cﬂaismsy\_?)
forfg;ki‘t; ii 25 Ths s &suwxmu Wk ‘MW‘”“S
= o . "
PRINT(i,j,k) S Ambeavad sl do AP )”{
ili. Determine the number of functions of the type f: 4 — B ]A[ 7( > 0 -
and |B| = n.
12 ‘ \ﬁ.\e@‘ﬂ—& balfs 7'1/

4 h lodeled b
un e shack



alls
iv. Determine the number of outcomes of throwing 3 cdfs (indistin-

guishable).
v. Count the number of ways of writing ¢ as a sum of n positive integers

where different orderings are counted as different. (¢ = 5 can be
written as a sum of n = 3 integers as: 3+1+1,1+3+1,24+1+2,...)

3iv) 8 unlalba balls

2 o\ bing
UMY s ic led

(\/) jc i labe balle
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2. (5 points) For the following formulas, let the universe be R. Translate each
of the following sentences into a formula using quantifiers.

(a) There is no largest number. ’t/‘ " ﬂ m ) m>nN 3 ’hﬂ Nnée IR

(b) There is no smallest positive number. -y 3 m (g 1\) ik (H\ 5o

(c) Between any two distinct numbers, there is a third number not equal to
either of them.

Vndm ga( m:u)»»@m v:c)f\ [ﬂ<vt)) v

(;”‘<5(>/\{Y7>qj>

™, N & iR

mh €1R

3. (4 points) Give reasons for each step in the proof of the following. A proof
based on the truth table is not acceptable.

[PV A(pV-g)VeepVy

Frwolne Kol polved Au I ass



4. (5 points) We wish to define what it means for a string of parentheses of
two types () and [ ] to be balanced. Intuitively, each left parenthesis should
match with a right parenthesis of the same type to the right, and the matched
pairs must be well-nested Here are some examples of balanced strings:

A (the empty string)

O 1 an 1o 100
[(napr  WEOmoIo

Here are some examples of strings that are not balanced:

Give a recursive definition of balanced that captures the definition.

Loy ¢ ke Wl B g o=\
Berl\oon e 5m5*

= S

T2]€ & ) Y € &,
Yyr e &, es, )
€s
5. (4 points) Recursively define the set S ~ {n®|n € Z*}, thatis S - {1,4,9...}.

What should we do to generate the elements in increasing sequence? This
means that after generating 4%, we need to generate 52.



6. (8 points) Answer any two of the following three.

(a) Suppose a,b,¢,d € Z. Prove, using a direct proof approach, that if alb

and c|d, then ac|bd. @M e b Nagss .

(b) Use the contrapositive proof method to show “if the average of n numbers

(all of them are not the same) is 100, then one of the numbers is greater
than 100”.

(¢) Prove by contradiction that there are no integers, a, b, ¢, d such that

t+ 20+ 2 + 2 = (x2+am+b){§:b+cx+d)

U5> Cm\\w\%*s?%w K}l\m@
“30 A Numbers cre (6o o ngg) "
AVOIR 1S Mel 400 (affmusdbars

axe nr¥ o lw
TE <0 Oy Yr Sl §aw>

(L) g‘ﬁ\)‘“\‘\‘g\"’“ﬂ o ‘\Ek;\wx\vnj (L C,G{%/g,_{Q{LLL\S

h+C > O
A4 Aexb = 2
& A 4 be v

bd = 2
Ailae = &w-g, O iy
A ~ C’VL"\,!O = 4 &

71 &Y, 4

— ¢ the = 2
C\L'),/’d



7. (4 points) Suppose that b : X — Y is any one-to-one function, and g : ¥ — Z
is any onto function. Prove or disprove

(a) goh must be onto. M@’?" ‘YLNL .
(b) g o h must be one-to-one. NJ o f\(,,\(

8. (4 points) Find the probability that a family of 4 children there will be (a) at
least 1 boy and (b) at least 1 boy and 1 girl. Assume that the probability of
a male or a girl birth is the same. What is the sample space?

% SC,\\\\\\\( kt)&c.g S;%(B.Brﬁ,B),lﬁ,G,B,B))
(6,3,9,8) -,(q,q,b,cx)}
15) = 16

Pmbo\\o»’uﬁ 5 o8 sample Mk evewl
= 0
N 'P@& leask o \Am]) = 1= Pno bfrb)

U)W(O\\‘ Lost o ‘oa}j
4 4 %/{Y\)
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10. (5 points)

(a) State the generalized pigeonhole principle.

(b) Consider the points (z;, i, %), %i, %, z € N,4 = 1,2,...,nin 3-dimension.
What is the smallest value for n such that for any given n points, there’
exist at least two pair of points whose midpoints also have integer
coordinates. The midpoint of (a,b,¢) and (o, B,7) s (452, %2, &41),

Gimmilis pashion wo ML Finad.a. S

11. (8 points) Let R be a relation on the power-set of a finite set A. Fill in the
blanks in the following table on the properties of R when R€ {C,C,=,¢}

Relatiomnon P(4)] ¢ | € | = 7 W
reflexive N Y Y N .
symmetric N N Y Y

antisymmetric \‘/ \( \( T\]

transitive \( Y Y ,\]
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12. (8 points) Let A =~ {0,1,2,3,4,5,6,7,8,9,10,11,12,13,14}. Let R be a
relation on A such that (a,b) € R if a|b (a divides b or a = b),

(a) Show that (A, R) is a poset.

(b) Draw the Hasse diagram of the poset (4, R). Identify the minimum,
maximum, minimal and the maximal elements.

(¢) Is (A, R) a total order? Explain.

Toos 15 Mswsed Am o dacs
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